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. Quarter 3 QCA Review

Unit 5: Radical Functions

1. Simplify completely.
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3. Write using rational exponents: 3
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4. Write in radical form:
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Transformations
5. Using the graph of fiz)=/x as a guide, describe the transformation of the

graph f(x)=3x+2—5.
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6. Using the graph of fiz) = +/x as a guide, describe the transformation of the
graph h(x)=—/x -7.
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7. (PREAP Only) Using the graph f(x)zé/; as a guide, describe the transformation of
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8. The parent function fx)= /x is stretched vertically by a factor of 4, reflected across
the x-axis, and translated left 2 units. Write the square-root function g(x).
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9. The function g is a translation 3 units left and 2 units up of from f(x)= Jx+9.
Write the function g(x).
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Applications
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10. The velocity V of an object in meters per second can be defined as v=J—, where
m

m is the mass of an object and K is the kinetic energy. Find the kinetic energy of an
object with velocity ofg meters per second and a mass of ! 5 grams
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11. Mr. Ingram’s physics class is experimenting with pendulums. The class learned the formula

T'=2x ke , Which relates the time T in seconds that it takes for a pendulum to swing back and
g

forth based on gravity g (32 feet per second squared) and the length of the pendulum L in feet.
One group decided they wanted to make a pendulum that took about 1.76 seconds to go back
and forth. Approximately how long should their pendulum be?
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12. On an interstate highway under dry conditions, the maximum safe speed in miles
per hour around a curve with radius of r in feet is approximated by the equation

Airy = +f1.6z. What would be the maximum safe speed around a curve with a radius of
1000 feet?
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Solve the following radical equations and then check your answer.
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Find the inverse of the functions and state the domain & range of f(x)and 77'(x):
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21. Using the composition of functions, prove if f(x)_\/%;i 3 ani@
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Unit 4: Polynomials

22.Given the cubic parent function f(x)=x’
range and end behavior and graph.
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End Behavior:
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Factor

29. f(x)=x>+9x* +23x+15
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Divide Using Any Method
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